I will not fail nor forsake you.... Joshua - 1 : 5.

SHAARON SPECIAL SCHOOL FOR THE MENTALLY RETARDED CHILDREN

under

SARON JEHOVAH YEEREH TRUST

(Registered under Indian Trusts Act 1882. No. 199 / 98)

Shaaron Garden, 78-C, Kalangaperi Road, Rajapalayam - 626 108. Virudhunagar Dt., Tamilnadu. S.India.

Mrs. PREMA, D.M.R., M.Sc., B.Ed., Founder and Correspondent

Phone No. +91 4563 235758 Mobile No. +91 94429 78455

To,

Date: 28 08 2081.

ASHA FOR EDUCATION,
340, LEMON AVE, STE 2742
WALNUT CA 91789,
USA.

PROPOSAL

Goal:

To rehabilitate the Special children in their (Residence). The special educators go to their house to visit and giving training to the special children and guide and counseling to the parents also.

As usual the programme is unique for every child, so they are giving child centered programme for each and every child, (IEP) at least monthly ones they are visit the children and refresh their skills and train the parents.

Programme:

The special educators go to the children's residence and refresh their academic and self care skills depends upon their need and profile. And the special educators will give training and counseling to the parents.

Mode of Transport:

When they go to the home based training travel by bus is so difficult, some children are living in interior village also, there are not frequent bus service it is so difficult so they cannot choose the bus for travel. Already our teacher's are travel by the two wheeler in last days, but they have met an accident and one teacher also get back pain, so now we have planned to travel by the van, it is easy to meet the children in every area.

Web: www.shaaronspecialschool.org
E-Mail: shaaronspcialschool@gmail.com

SHAARON SPECIAL SCHOOL
RAJAPALAYAM.

Salary:

Even only they are going to the house visit also consume the whole day so they are working full day basis. So we have to give them atleast Rs. 10,000/- per month. Additionally we need a driver and fuel also. So please consider our situation and support us in this pandemic period.

Construction:

Our kitchen construction is completed in Roof concrete level. Remaining works are here I have enclosed the quotation.

Occupational therapy materials:

Now we need occupational therapy materials, but now the school is not open, so I think we have to purchase the OT material in future after open the school.

BUDGET

For Home Based Programme

 Special Educator
 $-3 \times 10,000 \text{ pm} = 30,000$

 Physio Therapist
 $-1 \times 10,000 \text{ pm} = 10,000$

 Driver
 $-1 \times 10,000 \text{ pm} = 10,000$

 Fuel
 =15,000

Total = $65,000 \times 12 = 7,80,000/$

CORRESPONDENT
SHAARON SPECIAL SCHOOL
RAJAPALAYAM.

Er. G.PRADEEP, B.E., (Civil), MBA, DLT

Licensed Surveyor

PG BUILDERS & CONTRACTORS

92, Saliyar Street, Muhavoor,

Virudhunagar Dist - 626111

CELL: +91 9940269862

EMAIL: pgbuilders2015@gmail.com

ABSTRACT ESTIMATE COST FOR THE RENOVATION WORK OF SCHOOL BUILDING NAMED SHAARON SPECIAL SCHOOL LOCATED AT KALANGAPERI ROAD, RAJAPALAYAM

FOUNDER:

Mrs. T. PREMA

IT IS A RCC (1:2:4) FRAMED STRUCTURE

ESTIMATED AMOUNT –RS. 7,90,000/(RUPEES SEVEN LAKHS AND NINTY THOUNSAND ONLY)

RAJAPALAYAM

27.08.2021

My

G. PRADEEP, B.E.(Civil), MBA, DLT Licensed Surveyor & Contractor, 297, Sivakamipuram Street, RAJAPALAYAM - 626 117.

			LENGTH	BREADTH	DEPTH	QUANTITY		
S.No	DESCRIPTION OF WORKS	NOS	FT	FT	FT	SQ.FT (OR) CFT	RATE	AMOUNT
1	PLASTERING							
	Plastering Inner wall	2	13.25		11	291.5		
		2	14.5		11	319		
		2	13		11	286		
		2	13.25		11	291.5		
		1	20		9	180		
		1	20		9	180		
		1	5		9	45		
	Ceiling Plastering	1	13.25	14.5		192.1		
		1	13	13.25	×	172.3		
	Loft	2	13.25	2		53		
		2	11	2		44		
		2	11	2		44		
		2	4	2		16		
		2	13.25	4		106		
		2	14.5	2		58		
		2	13.25	2		53		
	Outer sun shade	2	8	2		32		
_		2	34	2		136		
	w .	2	5	1		10		
		2	5	1		10		
		2	5	1		10		
		2	20	2		80		
	Parapet Wall Plastering	1	34	2	3	102		
_	rarapet wan riastering	1	20					
_	Outer Plastering	1	20		3	60	_	
_	Outer Plastering	1	20		9	100		
		1	20			180		
		1	34		17.5	595		
_		1	30		14	420	45	
2						3966.4	45	17848
2	TILES WORK		10.11					
_	Floor	1	13.25	14.5		192.1		
		1	13	13.25		172.3		
	Wall	2	13.25		7	185.5		
		2	14.5		7	203		
		2	13	146.	7	182		
		2	13.25		7	185.5		
-			a to the second			1120.4	110	12324
3	Filling with Gravel	1	23	24	2	1104		4
		1	20	5	2	200	185	
						1304	15	1956
4	CEMENT FLOORING	1	23	24		552		
		1	20	5		100		
						652	60	3912
5	WATER TANK							
	Excavation	1	10	8 .	6	480	15	720
	Flooring	1	10	8		80	50	400
	Brick Work	2	11.5	9	6	138	150	2070
		2	8		6	96	150	1440
	Plastering	2	10		6	120	40	480
		2	8		6	96	40	384

CORRESPONDENT
SHAARON SPECIAL SCHOOL
RAJAPALAYAM

	Concrete	1	11.5	9.5		109.3	200	21850
								76790
6	COMPOUND WALL							
	Compound wall Brick work	1	23		2	46.0	150	6900
	Plastering	2	23		2	92.0	40	3680
								10580
7	GRILL WORK							
	Grill Work	1	10		8	80.0		
		1	5		5	25.0		
		1	5		3	15.0		
						120.0	300	36000
8	WOOD WORK							
	Wood Window	1	4.5		3	13.5		
		1	3		4	12.0		
		2	3		3	18.0		
	Wood Door	1	4		7	28.0		
		1	3		7	21.0		
		1	3		7	21.0		
		1	3		7	21.0		
	Attach Window	1	3		4	12.0	MEW S.	
						146.5	600	87900
9	WEATHERING COURSE	1	34	20		680.0	100	68000
10	SS WORK	1	24			24.0	1000	24000
11	ELECTRICAL	L.S						40000
12	PLUMBING	L.S						25000
13	INTERIOR WOOD WORK	L.S						60000

livey.

G. PRADEEP, B.E.(Civil), MBA, DLT Licensed Surveyor & Contractor, 297, Sivakamipuram Street, RAJAPALAYAM - 626 117.

ABSTRACT ESTIMATE COST FOR THE RENOVATION WORK OF SCHOOL BUILDING NAMED SHAARON SPECIAL SCHOOL LOCATED AT KALANGAPERI ROAD, RAJAPALAYAM S.NO **DESCRIPTION OF WORKS AMOUNT** 1 **PLASTERING** 178487 2 **TILES WORK** 123241 3 FILLING WITH GRAVEL 19560 4 **CEMENT FLOORING** 39120 5 WATER TANK 76790 **COMPOUND WALL** 6 10580 7 **GRILL WORK** 36000 8 WOOD WORK 87900 WEATHERING COURSE 9 68000 10 SS WORK 24000 **ELECTRICAL** 11 40000 **PLUMBING** 12 25000 INTERIOR WOOD WORK 13 60000 TOTAL 788678 RS. 788678/- @ 790000 RUPEES SEVEN LAKH AND NINTY THOUSAND ONLY

buy

G. PRADEEP, B.E.(Civil), MBA, DLT Licensed Surveyor & Contractor, 297, Sivakamipuram Street, RAJAPALAYAM - 626 117.